
题号：1(qid:170)	 	
题目：The	Acoma	and	Hopi	are	probably	the	two	oldest	surviving	Pueblo	communities,	both	dating	
back	at	least	a	thousand	years.	 	
选项：	 	
A.both	dating	 	
B.both	of	which	have	dated	 	
C.and	each	has	dated	 	
D.and	each	one	dating	 	
E.each	one	of	which	date	 	
	
题号：2(qid:2884)	 	
题目：	
An	international	team	of	astronomers	working	at	telescopes	in	the	Canary	Islands	and	Spain	has	
detected	at	least	18	huge	gas	spheres	estimated	to	have	5	to	15	times	the	mass	of	Jupiter,	the	solar	
system's	largest	planet.	
选项：	 	
A.	astronomers	working	at	telescopes	in	the	Canary	Islands	and	Spain	has	detected	at	least	18	huge	
gas	spheres	estimated	to	have	5	to	15	times	the	mass	of	Jupiter	 	
B.	astronomers	working	at	telescopes	in	the	Canary	Islands	and	Spain	has	detected	at	least	18	huge	
gas	spheres	that	are	at	an	estimated	5	to	15	times	Jupiter's	mass	 	
C.	astronomers	is	working	at	telescopes	in	the	Canary	Islands	and	Spain,	having	detected	at	least	
18	huge	gas	spheres	that	are	estimated	at	5	to	15	times	the	mass	of	Jupiter	 	
D.	astronomers,	working	at	telescopes	in	the	Canary	Islands	and	Spain,	and	has	detected	at	least	
18	huge	gas	spheres	estimated	at	5	to	15	times	the	mass	of	Jupiter	 	
E.	astronomers,	working	at	telescopes	 in	the	Canary	 Islands	and	Spain,	has	detected	at	 least	18	
huge	gas	spheres	they	have	estimated	as	being	5	to	15	times	Jupiter's	mass	 	
	
文章：		 		 Extensive	research	has	shown	that	the	effects	of	short-term	price	promotions	on	sales	
are	themselves	short-term.	Companies'	hopes	that	promotions	might	have	a	positive	aftereffect	
have	not	been	borne	out	for	reasons	that	researchers	have	been	able	to	identify.	A	price	promotion	
entices	 only	 a	 brand's	 long-term	or	 "loyal"	 customers;	 people	 seldom	buy	 an	 unfamiliar	 brand	
merely	because	the	price	is	reduced.	They	simply	avoid	paying	more	than	they	have	to	when	one	
of	their	customary	brands	is	temporarily	available	at	a	reduced	price.	A	price	promotion	does	not	
increase	the	number	of	long-term	customers	of	a	brand,	as	it	attracts	virtually	no	new	customers	
in	the	first	place.	Nor	do	price	promotions	have	lingering	aftereffects	for	a	brand,	even	negative	
ones	such	as	damage	to	a	brand's	reputation	or	erosion	of	customer	loyalty,	as	is	often	feared.	
	
		 		 So	 why	 do	 companies	 spend	 so	 much	 on	 price	 promotions?	 Clearly	 price	 promotions	 are	
generally	run	at	a	 loss,	otherwise	there	would	be	more	of	them.	And	the	bigger	the	increase	in	
sales	 at	 promotion	 prices,	 the	 bigger	 the	 loss.	 While	 short-term	 price	 promotions	 can	 have	
legitimate	uses,	such	as	reducing	excess	inventory,	it	 is	the	recognizable	increase	in	sales	that	is	
their	main	attraction	to	management,	which	is	therefore	reluctant	to	abandon	this	strategy	despite	
its	effect	on	the	bottom	line.	 	
	



题号：3(qid:172)	 	
题目：	
The	primary	purpose	of	the	passage	is	to	
选项：	 	
A.compare	the	arguments	in	favor	of	a	certain	strategy	with	those	against	it	 	
B.attack	a	certain	strategy	by	enumerating	its	negative	consequences	 	
C.justify	the	use	of	a	certain	strategy	in	light	of	certain	criticisms	that	have	been	made	against	it	 	
D.advocate	a	particular	strategy	by	arguing	against	an	alternative	 	
E.explain	the	effects	of	a	certain	strategy	and	the	primary	motivations	for	adopting	it	 	
	
题号：4(qid:173)	 	
题目：According	 to	 the	 passage,	 which	 of	 the	 following	 is	 the	 reason	 why	 short-term	 price	
promotions	do	not	attract	new	long-term	customers	to	a	brand?	 	
选项：	 	
A.Short-term	price	promotions	do	not	produce	an	increase	in	sales.	 	
B.Customers	 come	 to	 regard	 the	 promotional	 price	 as	 the	 fair	 price	 and	 the	 regular	 price	 as	
excessive.	 	
C.Most	customers	select	among	competing	products	largely	on	the	basis	of	price	and	very	few	are	
loyal	to	any	particular	brand.	 	
D.Customers	who	have	not	previously	bought	the	promoted	brand	are	almost	never	persuaded	to	
do	so	by	the	short-term	price	promotions.	 	
E.Any	customers	that	a	brand	gains	by	means	of	a	short-term	price	promotion	are	liable	to	be	lost	
when	a	competing	brand	has	a	similar	promotion.	 	
	 	
题号：5(qid:174)	 	
题目：The	passage	suggests	that	evidence	for	price	promotions'	'effect	on	the	bottom	line'	(in	the	
highlighted	text)	is	provided	by	 	
选项：	 	
A.the	lack	of	lingering	aftereffects	from	price	promotions	 	
B.the	frequency	with	which	price	promotions	occur	 	
C.price	promotions'	inability	to	attract	new	customers	 	
D.price	promotions'	recognizable	effect	on	sales	 	
E.the	legitimate	uses	to	which	management	can	put	price	promotions	 	
	
题号：6(qid:175)	 	
题目： It	 can	 be	 inferred	 from	 the	 passage	 that	 if	 a	 company	 ceased	 to	 run	 short-term	 price	
promotions	for	a	particular	product,	an	effect	of	this	change	would	be	to	 	
选项：	 	
A.reduce	excess	inventory	of	the	product	 	
B.lose	some	of	the	product's	long-term	customers	 	
C.reduce	the	product's	overall	sales	 	
D.inhibit	growth	in	the	number	of	the	product's	customers	 	
E.threaten	the	product's	profitability	 	
题号：7(qid:176)	 	



题目:Although	 the	discount	 stores	 in	Goreville's	 central	 shopping	district	are	expected	 to	 close	
within	five	years	as	a	result	of	competition	from	a	SpendLess	discount	department	store	that	just	
opened,	 those	 locations	 will	 not	 stay	 vacant	 for	 long.		 In	 the	 five	 years	 since	 the	 opening	 of	
Colson's,	a	non-discount	department	store,	a	new	store	has	opened	at	the	location	of	every	store	
in	the	shopping	district	that	closed	because	it	could	not	compete	with	Colson's.	
Which	of	the	following,	if	true,	most	seriously	weakens	the	argument?	 	
选项：	 	
A.Many	customers	of	Colson's	are	expected	to	do	 less	shopping	there	than	they	did	before	the	
SpendLess	store	opened.	 	
B.Increasingly,	the	stores	that	have	opened	in	the	central	shopping	district	since	Colson's	opened	
have	been	discount	stores.	 	
C.At	present,	the	central	shopping	district	has	as	many	stores	operating	in	it	as	it	ever	had.	 	
D.Over	the	course	of	the	next	five	years,	it	is	expected	that	Goreville's	population	will	grow	at	a	
faster	rate	than	it	has	for	the	past	several	decades.	 	
E.Many	stores	in	the	central	shopping	district	sell	types	of	merchandise	that	are	not	available	at	
either	SpendLess	or	Colson's.	 	
	
文章：		 		 The	idea	that	equipping	homes	with	electrical	appliances	and	other	'modern'	household	
technologies	would	eliminate	drudgery,	save	labor	time,	and	increase	leisure	for	women	who	were	
full-time	home	workers	remained	largely	unchallenged	until	the	women's	movement	of	the	1970's	
spawned	the	groundbreaking	and	influential	works	of	sociologist	Joann	Vanek	and	historian	Ruth	
Cowan.	Vanek	analyzed	40	years	of	time	use	surveys	conducted	by	home	economists	to	argue	that	
electrical	 appliances	 and	other	modern	household	 technologies	 reduced	 the	 effort	 required	 to	
perform	specific	tasks,	but	ownership	of	these	appliances	did	not	correlate	with	less	time	spent	on	
housework	by	full-time	home	workers.	In	fact,	time	spent	by	these	workers	remained	remarkably	
constant―at	about	52	to	54	hours	per	week―from	the	1920's	to	the	1960's,	a	period	of	significant	
change	in	household	technology.	In	surveying	two	centuries	of	household	technology	in	the	United	
States,	Cowan	argued	that	the	'industrialization'	of	the	home	often	resulted	in	more	work	for	full-
time	home	workers	because	 the	use	of	 such	devices	as	coal	 stoves,	water	pumps,	and	vacuum	
cleaners	tended	to	reduce	the	workload	of	married-women's	helpers	(husbands,	sons,	daughters,	
and	 servants)	 while	 promoting	 a	 more	 rigorous	 standard	 of	 housework.	 The	 full-time	 home	
worker's	duties	 also	 shifted	 to	 include	more	household	management,	 child	 care,	 and	 the	post-
Second	World	War	phenomenon	of	being	'Mom's	taxi.'	 	
题号：8(qid:177)	 	
题目：According	to	the	passage,	which	of	the	following	is	true	about	the	idea	mentioned	in	the	
highlighted	text?	
选项：	 	
A.It	has	been	undermined	by	data	found	in	time-use	surveys	conducted	by	home	economists.	 	
B.It	was	based	on	a	definition	of	housework	that	was	explicitly	rejected	by	Vanek	and	Cowan.	 	
C.It	is	more	valid	for	the	time	period	studied	by	Cowan	than	for	the	time	period	studied	by	Vanek.	 	
D.It	is	based	on	an	underestimation	of	the	time	that	married	women	spent	on	housework	prior	to	
the	industrialization	of	the	household.	 	
E.It	inaccurately	suggested	that	new	household	technologies	would	reduce	the	effort	required	to	
perform	housework.	 	



题号：9(qid:178)	 	
题目：The	passage	is	primarily	concerned	with	 	
选项：	 	
A.analyzing	a	debate	between	two	scholars	 	
B.challenging	the	evidence	on	which	a	new	theory	is	based	 	
C.describing	how	certain	scholars'	work	countered	a	prevailing	view	 	
D.presenting	the	research	used	to	support	a	traditional	theory	 	
E.evaluating	the	methodology	used	to	study	a	particular	issue	 	
	
题号：10(qid:179)	 	
题目：The	 passage	 suggests	 that	 Vanek	 and	 Cowan	would	 agree	 that	modernizing	 household	
technology	did	not	 	
选项：	 	
A.reduce	the	workload	of	servants	and	other	household	helpers	 	
B.raise	 the	 standard	 of	 housework	 that	 women	 who	 were	 full-time	 home	 workers	 set	 for	
themselves	 	
C.decrease	the	effort	required	to	perform	household	tasks	 	
D.reduce	the	time	spent	on	housework	by	women	who	were	full-time	home	workers	 	
E.result	in	a	savings	of	money	used	for	household	maintenance	 	
	
	
题号：11(qid:180)	 	
题目：	
	 	 Because	ethylene	dibromide,	a	chemical	used	to	fumigate	grain,	was	blamed	for	the	high	rate	of	
nerve	damage	suffered	by	people	who	work	in	grain-processing	plants,	many	such	plants	switched	
to	other	 chemical	 fumigants	 two	years	ago.	Since	 then,	however,	 the	percentage	of	workers	at	
these	 plants	 who	 were	 newly	 diagnosed	 with	 nerve	 damage	 has	 not	 dropped	 significantly.	
Therefore,	either	ethylene	dibromide	was	wrongly	blamed	or	else	the	new	chemicals	also	cause	
nerve	damage.	
Which	of	the	following	is	an	assumption	on	which	the	argument	depends?	
选项：	 	
A.If	the	new	chemicals	cause	nerve	damage,	the	nerve	damage	caused	would	be	different	from	
any	nerve	damage	that	ethylene	dibromide	may	cause.	 	
B.There	are	no	chemical	fumigants	that	are	completely	safe	for	workers	in	grain-processing	plants.	 	
C.If	ethylene	dibromide	causes	nerve	damage,	it	does	not	take	two	years	or	longer	for	that	damage	
to	become	detectable.	 	
D.Workers	at	grain-processing	plants	typically	continue	to	work	there	even	after	being	diagnosed	
with	nerve	damage.	 	
E.Workers	at	grain-processing	plants	that	still	use	ethylene	dibromide	continue	to	have	a	high	rate	
of	nerve	damage.	 	
	
	
题号：12(qid:835)	 	
题目：	



Medicare,	the	United	States	government's	health	insurance	program	for	the	elderly	and	disabled,	
covers	the	full	cost	of	home	health	care,	but	not	with	other	nonhospital	services	where	20	percent	
of	the	costs	must	be	paid	by	beneficiaries.	
选项：	 	
A.but	 not	 with	 other	 nonhospital	 services	 where	 20	 percent	 of	 the	 costs	 must	 be	 paid	 by	
beneficiaries	 	
B.but	not	of	other	nonhospital	services,	making	beneficiaries	pay	20	percent	of	the	costs	 	
C.but	not	of	other	nonhospital	services,	for	which	beneficiaries	must	pay	20	percent	of	the	costs	 	
D.which	 is	 unlike	 other	 nonhospital	 services	 in	 that	 20	 percent	 of	 the	 costs	 must	 be	 paid	 by	
beneficiaries	 	
E.which	is	unlike	other	nonhospital	services	that	make	beneficiaries	pay	20	percent	of	the	costs	 	
	
题号：13(qid:2876)	 	
题目：	
She	was	an	educator,	a	builder	of	institutions	and	organizations,	and	a	major	figure	in	the	Black	
church	and	secular	feminist	movements	as	well,	so	one	of	the	best-known	and	most	well-respected	
African	Americans	of	the	early	twentieth	century	was	Nannie	Helen	Burroughs.	
选项：	 	
A.	She	was	an	educator,	a	builder	of	institutions	and	organizations,	and	a	major	figure	in	the	Black	
church	and	secular	feminist	movements	as	well,	so	one	of	the	best-known	and	most	well-respected	
African	Americans	of	the	early	twentieth	century	was	Nannie	Helen	Burroughs.	 	
B.	She	was	an	educator,	a	builder	of	institutions	and	organizations,	and	a	major	figure	in	the	Black	
church	and	secular	feminist	movements,	and	Nannie	Helen	Burroughs	also	was	one	of	the	best-
known	and	well-respected	African	Americans	of	the	early	twentieth	century.	 	
C.	As	an	educator,	a	builder	of	institutions	and	organizations,	and	a	major	figure	in	the	Black	church	
and	secular	feminist	movements,	Nannie	Helen	Burroughs	was	one	of	the	best-known	and	most	
well-respected	African	Americans	of	the	early	twentieth	century.	 	
D.	As	an	educator,	a	builder	of	institutions	and	organizations,	and	a	major	figure	in	the	Black	church	
and	secular	feminist	movements,	one	of	the	best-known	and	well-respected	African	Americans	of	
the	early	twentieth	century	was	Nannie	Helen	Burroughs.	 	
E.	Being	an	educator,	a	builder	of	 institutions	and	organizations,	and	a	major	figure	in	the	Black	
church	and	secular	feminist	movements,	one	of	the	best-known	and	most	well-respected	African	
Americans	of	the	early	twentieth	century	was	Nannie	Helen	Burroughs.	 	
	
	
题号：14(qid:183)	 	
题目：	
Which	of	the	flowing	most	logically	completes	the	argument?	
The	 attribution	of	 the	 choral	work	 Lacrimae	 to	 the	 composer	 Pescard	 (1400	–	 1474)	 has	 been	
regarded	as	 tentative,	since	 it	was	based	on	a	single	 treatise	 from	the	early	1500's	 that	named	
Pescard	as	the	composer.		 Recently,	several	musical	treatises	from	the	late	1500's	have	come	to	
light,	 all	 of	 which	 name	 Pescard	 as	 the	 composer	 of	 Lacrimae.		 Unfortunately,	 these	 newly	
discovered	treatises	lend	no	support	to	the	attribution	of	Lacrimae	to	Pescard,	since	_______.	
选项：	 	



A.the	treatise	from	the	early	1500's	misidentifies	the	composers	of	some	of	the	musical	works	it	
considers	 	
B.the	author	of	the	treatise	from	the	early	1500's	had	no	very	strong	evidence	on	which	to	base	
the	identification	of	Pescard	as	the	composer	of	Lacrimae	 	
C.there	are	works	that	can	conclusively	be	attributed	to	Pescard	that	are	not	even	mentioned	in	
the	treatise	from	the	early	1500's	 	
D.the	later	treatises	probably	had	no	source	for	their	attribution	other	than	the	earlier	treatise	 	
E.no	known	treatises	from	the	1600's	identify	Pescard	as	the	composer	of	Lacrimae	 	
	
	
题号：15(qid:632)	 	
题目：	
It	is	illegal	to	advertise	prescription	medications	in	Hedland	except	in	professional	medical	journals	
or	by	mail	directly	to	physicians.		 A	proposed	law	would	allow	general	advertising	of	prescription	
medications.		 Opponents	 object	 that,	 in	 general,	 laypersons	 lack	 the	 specialized	 knowledge	 to	
evaluate	such	advertisements	and	might	ask	their	physicians	for	inappropriate	medications.		 But	
since	 physicians	 have	 the	 final	 say	 as	 to	whether	 to	 prescribe	 a	medication	 for	 a	 patient,	 the	
objection	provides	no	grounds	for	concern.	
Which	of	the	following	would	it	be	most	useful	to	establish	in	order	to	evaluate	the	argument?	
选项：	 	
A.Whether	nonprescription	medications	can	interact	with	and	block	the	action	of	any	prescription	
medications	that	could	be	advertised	to	the	general	public	 	
B.Whether	most	prescription	medication	advertisements	directed	at	the	general	public	would	be	
advertisements	for	recently	developed	medications	newly	available	by	prescription	 	
C.Whether	prescription	medication	advertisements	directed	at	the	general	public	would	appear	on	
television	and	radio	as	well	as	in	print	 	
D.Whether	physicians	are	more	likely	to	pay	attention	to	advertising	directed	to	the	general	public	
than	to	advertising	directed	to	physicians	 	
E.Whether	physicians	are	likely	to	succumb	to	pressure	from	patients	to	prescribe	inappropriate	
medications	 	
	
题号：16(qid:717)	 	
题目：	
Unlike	 mainstream	 American	 businesses,	 more	 than	 half	 of	 which	 fail,	 the	 failure	 rate	 for	
businesses	in	the	Amish	community	hovers	around	5	percent.	
选项：	 	
A.Unlike	mainstream	American	businesses,	more	than	half	of	which	fail	 	
B.Unlike	mainstream	American	businesses,	in	which	the	failure	rate	is	more	than	half	 	
C.Unlike	mainstream	American	businesses,	where	more	than	half	of	them	fail	 	
D.While	the	rate	of	mainstream	American	businesses	failing	is	more	than	half	 	
E.While	more	than	half	of	mainstream	American	businesses	fail	 	
	
	
题号：17(qid:186)	 	



题目：The	 steel	 industry	has	 changed	 radically	 over	 the	 last	 two	decades,	 as	 large,	 integrated	
companies	such	as	Bethlehem	Steel	once	conducted	operations	 from	mining	at	one	end	of	 the	
process	to	shipping	at	the	other	have	greatly	downsized,	or	in	some	cases	shut	down	altogether.	 	
选项：	 	
A.as	large,	integrated	companies	such	as	Bethlehem	Steel	 	
B.as	large,	integrated	companies,	such	as	Bethlehem	Steel,	that	 	
C.with	large,	integrated	companies,	such	as	Bethlehem	Steel,	that	 	
D.while	large,	integrated	companies,	such	as	Bethlehem	Steel,	that	 	
E.and	large,	integrated	companies	such	as	Bethlehem	Steel	 	
	
	
题号：18(qid:187)	 	
题目：Unlike	the	many	winter	greens	that	have	tough	leaves	and	thus	require	a	lengthy	cooking	
time,	those	of	escarole	need	little	or	no	cooking.	 	
选项：	 	
A.many	winter	greens	that	have	tough	leaves	and	thus	require	a	 lengthy	cooking	time,	those	of	
escarole	need	 	
B.many	winter	greens	that	have	tough	leaves	and	thus	require	a	 lengthy	cooking	time,	escarole	
needs	 	
C.tough	leaves	of	many	winter	greens	and	that	they	require	for	a	lengthy	cooking	time,	escarole	
needs	 	
D.tough	leaves	of	many	winter	greens	and	the	requirement	that	they	have	a	lengthy	cooking	time,	
those	of	escarole	need	 	
E.lengthy	cooking	time	required	by	the	many	winter	greens	with	tough	leaves,	escarole	needs	 	
	
	
题号：19(qid:188)	 	
题目：After	several	years	of	rapid	growth,	the	healthy	care	company	became	one	of	the	largest	
health	care	providers	in	the	metropolitan	area,	while	it	then	proved	unable	to	handle	the	increase	
in	business,	falling	months	behind	in	its	payment	to	doctors	and	hospitals.	 	
选项：	 	
A.while	 it	 then	 proved	 unable	 to	 handle	 the	 increase	 in	 business,	 falling	months	 behind	 in	 its	
payment	to	 	
B.while	 it	 then	proved	unable	 to	handle	 the	 increase	 in	business	 and	 fell	months	behind	 in	 its	
payment	to	 	
C.but	then	it	proved	unable	to	handle	the	increase	in	business,	falling	months	behind	in	its	paying	 	
D.but	then	proving	unable	to	handle	the	increase	in	business,	falling	months	behind	in	paying	 	
E.but	then	proved	unable	to	handle	the	increase	in	business,	falling	months	behind	in	paying	 	
	
	
	
	
题号：20(qid:189)	 	
题目：	



	 	 During	the	past	year,	Pro-Tect	Insurance	Company's	total	payouts	on	car-theft	claims	were	larger	
than	the	company	can	afford	to	sustain.		 Pro-Tect	cannot	reduce	the	number	of	car-theft	policies	
it	carries,	so	cannot	protect	itself	against	continued	large	payouts	that	way.		 Therefore,	Pro-Tect	
has	 decided	 to	 offer	 a	 discount	 to	 holders	 of	 car-theft	 policies	 whose	 cars	 have	 antitheft	
devices.		 Many	policyholders	will	respond	to	the	discount	by	installing	antitheft	devices,	since	the	
amount	 of	 the	 discount	 will	 within	 two	 years	 typically	 more	 than	 cover	 the	 cost	 of	
installation.		 Thus,	because	cars	with	antitheft	devices	are	rarely	stolen,	Pro-Tect's	plan	is	likely	to	
reduce	its	annual	payouts.	
		
In	the	argument	above,	the	two	portions	in	boldface	play	which	of	the	following	roles?	 	
选项：	 	
A.The	first	rules	out	a	certain	strategy	for	achieving	a	goal;	the	second	presents	the	strategy	that	
was	adopted	instead	and	whose	effectiveness	the	argument	assesses.	 	
B.The	first	is	a	judgment	made	in	support	of	a	certain	conclusion;	the	second	is	that	conclusion.	 	
C.The	first	has	been	used	as	a	consideration	to	support	adopting	a	certain	strategy	for	achieving	a	
goal;	the	second	reports	a	decision	to	adopt	an	alternative	strategy.	 	
D.The	first	provides	evidence	in	favor	of	adopting	a	certain	strategy	for	achieving	a	goal;	the	second	
reports	a	decision	to	pursue	an	alternative	goal.	 	
E.The	first	is	a	consideration	offered	against	adopting	a	certain	strategy	for	achieving	a	goal;	the	
second	is	the	main	conclusion	that	the	argument	is	seeking	to	establish.	 	
	
题号：21(qid:190)	 	
题目：	
Editorial:		 The	roof	of	Northtown	Council's	equipment-storage	building	collapsed	under	the	weight	
of	last	week's	heavy	snowfall.		 The	building	was	constructed	recently	and	met	local	building-safety	
codes	in	every	particular,	except	that	the	nails	used	for	attaching	roof	supports	to	the	building's	
columns	were	 of	 a	 smaller	 size	 than	 the	 codes	 specify	 for	 this	 purpose.		 Clearly,	 this	 collapse	
exemplifies	how	even	a	single,	apparently	insignificant,	departure	from	safety	standards	can	have	
severe	consequences.	
Which	of	the	following,	if	true,	most	strongly	supports	the	editorial's	argument?	 	
选项：	 	
A.The	 only	 other	 buildings	 whose	 roofs	 collapsed	 from	 the	weight	 of	 the	 snowfall	 were	 older	
buildings	constructed	according	to	less	exacting	standards	than	those	in	the	safety	codes.	 	
B.Because	of	the	particular	location	of	the	equipment-storage	building,	the	weight	of	snow	on	its	
roof	was	greater	than	the	maximum	weight	allowed	for	in	the	safety	codes.	 	
C.Because	the	equipment-storage	building	was	not	intended	for	human	occupation,	some	safety-
code	provisions	that	would	have	applied	to	an	office	building	did	not	apply	to	it.	 	
D.The	columns	of	the	building	were	no	stronger	than	the	building-safety	codes	required	for	such	a	
building.	 	
E.Because	the	equipment-storage	building	was	where	the	council	kept	snow-removal	equipment,	
the	building	was	almost	completely	empty	when	the	roof	collapsed.	 	
	
题号：22(qid:770)	 	
题目：	



In	an	attempt	to	guarantee	the	security	of	its	innovative	water	purification	method,	the	company	
required	each	employee	to	sign	a	confidentiality	agreement	prohibiting	that	its	water	purification	
methods	be	disclosed	to	companies	using	an	analogous	purification	process.	
选项：	 	
	
A.prohibiting	that	its	water	purification	methods	be	disclosed	to	companies	 	
B.prohibiting	them	from	the	disclosing	of	its	water	purification	methods	to	any	company	 	
C.prohibiting	disclosure	of	its	water	purification	methods	to	any	company	 	
D.that	would	prohibit	them	from	disclosure	of	its	water	purification	methods	to	companies	 	
E.that	would	prohibit	its	water	purification	methods	to	be	disclosed	to	a	company	 	
	
	
文章:	Why	firms	adhere	to	or	deviate	from	their	strategic	plans	 is	poorly	understood.	However,	
theory	and	limited	research	suggest	that	the	process	through	which	such	plans	emerge	may	play	a	
part.	In	particular,	top	management	decision-sharing	consensus-oriented,	team-based	Decision	-
making-may	increase	the	likelihood	that	firms	will	adhere	to	their	plans,	because	those	involved	in	
the	decision-making	may	be	more	committed	to	the	chosen	course	of	action,	thereby	increasing	
the	likelihood	that	organizations	will	subsequently	adhere	to	their	plans.	
		 		 However,	the	relationship	between	top	management	decision-sharing	and	adherence	to	plans	
may	be	affected	by	a	firm's	strategic	mission	(its	fundamental	approach	to	increasing	sales	revenue	
and	market	share,	and	generating	cash	flow	and	short-term	profits).	At	one	end	of	the	strategic	
mission	continuum,	'build'	strategies	are	pursued	when	a	firm	desires	to	increase	its	market	share	
and	is	willing	to	sacrifice	short-term	profits	to	do	so.	At	the	other	end,	'harvest'	strategies	are	used	
when	 a	 firm	 is	 willing	 to	 sacrifice	 market	 share	 for	 short-term	 profitability	 and	 cash-flow	
maximization.	Research	and	 theory	 suggest	 that	 top	management	decision-sharing	may	have	a	
more	 positive	 relationship	 with	 adherence	 to	 plans	 among	 firms	 with	 harvest	 strategies	 than	
among	firms	with	build	strategies.	In	a	study	of	strategic	practices	in	several	large	firms,	managers	
in	 harvest	 strategy	 scenarios	were	more	 able	 to	 adhere	 to	 their	 business	 plans.	 As	 one	 of	 the	
managers	in	the	study	explained	it,	this	is	partly	because	typically	all	a	manager	has	to	do	[when	
implementing	a	harvest	strategy]	is	that	which	was	done	last	year.	Additionally,	managers	under	
harvest	strategies	may	have	fewer	strategic	options	than	do	those	under	build	strategies;	it	may	
therefore	be	easier	to	reach	agreement	on	a	particular	course	of	action	through	decision-sharing,	
which	will	in	turn	tend	to	promote	adherence	to	plans.	Conversely,	in	a	'build'	strategy	scenario,	
individual	 leader-ship,	 rather	 than	 decision-sharing,	 may	 promote	 adherence	 to	 plans.	 Build	
strategies-which	typically	 require	 leaders	with	strong	personal	visions	 for	a	 firm's	 future,	 rather	
than	the	negotiated	compromise	of	the	team-based	decision-maybe	most	closely	adhered	to	when	
implemented	in	the	context	of	a	clear	strategic	vision	of	an	individual	leader,	rather	than	through	
the	practice	of	decision-sharing.	 	
	
	
题号：23(qid:479)	 	
题目：Which	of	the	following	best	describes	the	function	of	the	first	sentence	(the	highlighted	text)	
of	the	second	paragraph	of	the	passage?	 	
选项：	 	



A.To	answer	a	question	posed	in	the	first	sentence	of	the	passage	about	why	firms	adopt	particular	
strategic	missions	 	
B.To	refute	an	argument	made	in	the	first	paragraph	about	how	top	management	decision-making	
affects	whether	firms	will	adhere	to	their	strategic	plans	 	
C.To	provide	evidence	 supporting	a	 theory	 introduced	 in	 the	 first	paragraph	about	what	makes	
firms	adhere	to	or	deviate	from	their	strategic	plants	 	
D.To	qualify	an	assertion	made	in	the	preceding	sentence	(lines	6-16)	about	how	top	management	
decision-making	affects	the	likelihood	that	firms	will	adhere	to	their	strategic	plans	 	
E.To	explain	a	distinction	relied	on	in	the	second	paragraph	(lines	17-68)	regarding	two	different	
kinds	of	strategic	missions	 	
	
	
题号：24(qid:480)	 	
题目：	
The	passage	cites	all	of	the	following	as	differences	between	firms	using	build	strategies	and	firms	
using	harvest	strategies	EXCEPT	
选项：	 	
A.their	willingness	to	sacrifice	short-term	profits	in	order	to	build	market	share	 	
B.their	willingness	to	sacrifice	building	market	share	in	order	to	increase	short-term	profitability	 	
C.the	number	of	strategic	options	available	to	their	managers	 	
D.the	relative	importance	they	assign	to	maximizing	cash-flow	 	
E.how	likely	they	are	to	employ	decision-sharing	in	developing	strategic	plans	 	
	
	
题号：25(qid:481)	 	
题目：	
The	primary	purpose	of	the	passage	is	to	
选项：	 	
A.identify	some	of	the	obstacles	that	make	it	difficult	for	firms	to	adhere	to	their	strategic	business	
plans	 	
B.compare	two	different	theories	concerning	why	firms	adhere	to	or	deviate	from	their	strategic	
plans	 	
C.evaluate	 the	 utility	 of	 top	 management	 decision-sharing	 as	 a	 method	 of	 implementing	 the	
strategic	mission	of	a	business	 	
D.discuss	 the	 respective	 advantages	 and	 disadvantages	 of	 build	 and	 harvest	 strategies	 among	
several	large	firms	 	
E.examine	some	of	the	factors	that	may	affect	whether	or	not	firms	adhere	to	their	strategic	plans	 	
	
	
	
题号：26(qid:482)	 	
题目：	
The	author	includes	the	quotation	in	the	highlighted	text	of	the	passage	most	probably	in	order	to	
选项：	 	



A.lend	support	to	the	claim	that	firms	utilizing	harvest	strategies	may	be	more	likely	to	adhere	to	
their	strategic	plans	 	
B.suggest	a	reason	that	many	managers	of	large	firm	prefer	harvest	strategies	to	build	strategies	 	
C.provide	 an	 example	 of	 a	 firm	 that	 adhered	 to	 its	 strategic	 plan	 because	 of	 the	 degree	 of	 its	
managers'	commitment	 	
D.demonstrate	 that	 managers	 implementing	 harvest	 strategies	 generally	 have	 better	 strategic	
options	than	do	managers	implementing	build	strategies	 	
E.give	an	example	of	a	large	firm	that	successfully	implemented	a	harvest	strategy	 	
	
题号：27(qid:196)	 	
题目：	
In	parts	of	the	Caribbean,	the	manatee,	an	endangered	marine	mammal,	has	long	been	hunted	for	
its	 meat.		 Having	 noted	 the	 manatee	 hunters'	 expert	 knowledge	 of	 manatees'	 habits,	 local	
conservationists	are	encouraging	the	hunters	to	stop	hunting	and	instead	to	take	tourists	on	boat	
rides	to	see	manatees.		 Tourist	interest	is	high,	so	the	plan	has	promise	of	achieving	the	twin	goals	
of	giving	the	former	hunters	a	good	income	and	helping	ensure	the	manatees'	survival.	
		
Which	of	the	following,	if	true,	raises	the	most	serious	doubt	about	the	plan's	chance	of	success?	 	
选项：	 	
A.Many	tourists	who	visit	these	parts	of	the	Caribbean	are	uninterested	in	manatees	and	would	
not	be	willing	to	pay	what	the	former	manatee	hunters	would	have	to	charge	for	boat	rides	to	see	
manatees.	 	
B.Recovery	of	the	species	would	enable	some	hunting	to	continue	without	putting	the	manatees'	
survival	in	jeopardy	again.	 	
C.In	 areas	 where	manatees	 have	 traditionally	 been	 hunted	 for	 food,	 local	 people	 could	 easily	
replace	the	manatee	meat	in	their	diets	with	other	foods	obtained	from	the	sea.	 	
D.There	would	not	be	enough	former	manatee	hunters	to	act	as	guides	 for	all	 the	tourists	who	
want	to	see	manatees.	 	
E.To	maintain	their	current	income,	manatee	hunters	who	switched	to	guiding	tourists	would	have	
to	use	 far	 larger	boats	and	make	many	more	 trips	 into	 the	manatees'	 fragile	habitat	 than	 they	
currently	do.	 	
	
题号：28(qid:197)	 	
题目：	
Regulations	will	not	allow	a	pesticide	that	is	toxic	to	humans	to	be	used	inside	houses	unless	the	
pesticide	will	dissipate	completely	from	the	air	within	eight	hours	after	its	application.		 One	test	
that	 pesticide	 manufacturers	 standardly	 use	 to	 determine	 how	 quickly	 anti-termite	 pesticides	
dissipate	 involves	 spraying	 the	 pesticides	 on	 the	walls	 of	 room-sized	 plywood	 boxes	 and	 then	
timing	its	dissipation.	
		
Which	of	the	following	would	it	be	most	useful	to	know	in	order	to	evaluate	whether	a	dissipation	
time	of	just	under	eight	hours	on	the	manufacturers'	test	indicates	that	an	anti-termite	pesticide	
that	is	toxic	to	humans	obeys	regulations	for	use	in	houses?	 	
选项：	 	



A.Whether	anti-termite	pesticides	dissipate	more	slowly	in	furnished	rooms	than	in	plywood	boxes	 	
B.Whether	people	who	apply	anti-termite	pesticide	 standardly	wear	protective	equipment	 that	
prevents	them	from	being	exposed	to	the	pesticide	 	
C.Whether	people	whose	house	is	being	treated	with	anti-termite	pesticide	generally	know	that	
they	 should	 remain	 out	 of	 their	 house	 during	 the	 hours	 immediately	 after	 the	 pesticide's	
application	 	
D.Whether	there	are	anti-termite	pesticides	that	are	toxic	to	humans	that,	when	subjected	to	the	
manufacturers'	test,	dissipate	completely	from	the	air	in	the	boxes	in	well	under	eight	hours	 	
E.Whether	anti-termite	pesticides	 that	are	not	 toxic	 to	humans	tend	to	 take	 longer	 to	dissipate	
than	those	that	are	toxic	 	
	
题号：29(qid:636)	 	
题目：	
Rivaling	the	pyramids	of	Egypt	or	even	the	ancient	cities	of	the	Maya	as	an	achievement,	the	army	
of	terra-cotta	warriors	created	to	protect	Qin	Shi	Huang,	China's	 first	emperor,	 in	his	afterlife	 is	
more	than	2,000	years	old	and	took	700,000	artisans	more	than	36	years	to	complete	them.	
选项：	 	
A.took	700,000	artisans	more	than	36	years	to	complete	them	 	
B.took	700,000	artisans	more	than	36	years	to	complete	it	 	
C.took	700,000	artisans	more	than	36	years	to	complete	 	
D.700,000	artisans	took	more	than	36	years	to	complete	 	
E.to	complete	them	took	700,000	artisans	more	than	36	years	 	
	
题号：30(qid:199)	 	
题目：Under	 high	 pressure	 and	 intense	 heat,	 graphite,	 the	most	 stable	 form	 of	 pure	 carbon,	
changes	into	the	substance	commonly	referred	to	as	diamond	and	remaining	this	way	whether	or	
not	the	heat	and	pressure	are	removed.	 	
选项：	 	
A.remaining	this	way	whether	or	not	 	
B.remaining	like	that	even	as	 	
C.remaining	as	such	whether	or	not	 	
D.remains	in	this	way	although	 	
E.remains	thus	even	when	 	
	
	
	
题号：31(qid:723)	 	
题目：	
In	Berinia,	the	age	at	which	people	could	begin	to	drink	alcohol	legally	used	to	be	18.		 In	1990,	in	
an	attempt	to	reduce	alcohol	consumption	and	thereby	to	reduce	alcohol-related	traffic	deaths	
among	Berinians	under	21,	the	legal	drinking	age	was	raised	to	21.		 Alcohol-related	traffic	deaths	
among	people	under	21	have	decreased	significantly	since	1990.		 Nevertheless,	surveys	show	that	
people	in	that	age-group	drink	just	as	much	alcohol	as	they	did	before	1990.	
		



Which	of	the	following,	if	true	of	Berinia,	most	helps	to	resolve	the	apparent	discrepancy?	
选项：	 	
A.For	the	population	as	a	whole,	annual	alcohol	consumption	is	no	lower	now	than	it	was	in	1990.	 	
B.Alcohol	 consumption	 away	 from	 home,	 for	 example	 in	 bars	 and	 restaurants,	 is	 much	 lower	
among	people	under	21	than	it	was	in	1990.	 	
C.The	proportion	of	people	under	21	who	own	a	car	is	higher	now	than	it	was	in	1990.	 	
D.Alcohol	consumption	 is	 lower	among	people	under	21	than	among	adults	 in	most	other	age-
groups.	 	
E.Alcohol-related	traffic	deaths	among	people	over	21	have	increased	slightly	since	1990.	 	
	
	
题号：32(qid:865)	 	
题目：	
Navigators	have	known	for	thousands	of	years	that	the	ocean	has	variable	currents,	but	it	is	only	
in	the	last	half	century	that	a	reasonably	clear	picture	has	emerged	of	the	patterns	and	causes	of	
ocean	currents.	
选项：	 	
A.a	reasonably	clear	picture	has	emerged	of	the	patterns	and	causes	of	ocean	currents	 	
B.a	reasonably	clear	picture	of	the	patterns	of	ocean	currents	and	their	causes	have	emerged	 	
C.a	reasonably	clear	picture	emerged	of	ocean	currents,	their	patterns	and	the	causes	of	them	 	
D.there	have	emerged	a	reasonably	clear	picture	of	the	patterns	of	ocean	currents	and	what	caused	
them	 	
E.there	had	emerged	a	reasonably	clear	picture	of	the	patterns	of	ocean	currents	and	their	causes	 	
	
	
题号：33(qid:202)	 	
题目：The	global-warming	effect	of	ocean	white	caps	are	one	of	the	many	aspects	of	the	ocean	
environment	 that	 are	 not	 yet	 incorporated	 in	 any	 detail	 into	 the	 computer	 models	 used	 for	
predicting	how	rising	greenhouse	gas	concentrations	could	affect	climate.	 	
选项：	 	
A.The	 global-warming	 effect	 of	 ocean	 white	 caps	 are	 one	 of	 the	 many	 aspects	 of	 the	 ocean	
environment	 that	 are	 not	 yet	 incorporated	 in	 any	 detail	 into	 the	 computer	 models	 used	 for	
predicting	 	
B.The	effect	on	global	warming	of	ocean	white	caps	are	one	of	 the	many	aspects	of	 the	ocean	
environment	not	yet	incorporated	in	any	detail	into	computer	models,	which	they	use	to	predict	 	
C.The	 effect	 of	 ocean	white	 caps	 on	 global	warming	 is	 one	 of	 the	many	 aspects	 of	 the	 ocean	
environment	that	are	not	yet	incorporated	in	any	detail	into	the	computer	models	used	to	predict	 	
D.That	ocean	white	caps	have	an	effect	on	global	warming	is	one	of	the	many	aspects	of	the	ocean	
environment	not	yet	having	been	 incorporated	 in	any	detail	 into	the	computer	models	that	are	
used	for	predicting	 	
E.That	ocean	white	caps	have	an	effect	on	global	warming	is	one	of	the	many	aspects	of	the	ocean	
environment	not	yet	being	 incorporated	 in	any	detail	 into	computer	models,	which	they	use	to	
predict	 	
	



	
题号：34(qid:857)	 	
题目：	
In	many	nations,	criminal	 law	does	not	apply	to	corporations,	but	 in	the	United	Stated	today,	a	
corporation	commits	a	crime	whenever	one	of	 its	employees	commits	a	crime,	 if	the	employee	
acted	within	the	scope	of	his	or	her	authority	and	if	the	corporation	benefited	as	a	result.	
选项：	 	
A.a	corporation	commits	a	crime	whenever	one	of	its	employees	commits	a	crime,	if	the	employee	
acted	 	
B.a	corporation	is	committing	a	crime	whenever	one	of	its	employees	committed	a	crime,	if	those	
employees	were	acting	 	
C.corporations	commit	a	crime	whenever	one	of	 its	employees	does,	on	the	condition	that	 the	
employee	acts	 	
D.corporations	commit	crimes	whenever	an	employee	of	those	corporations	commit	a	crime,	if	it	
was	while	acting	 	
E.the	corporation	whose	employees	commit	a	crime,	commits	a	crime,	whenever	the	employee	
acted	 	
	
	
	
题号：35(qid:209)	 	
题目：	
Many	 people	 suffer	 an	 allergic	 reaction	 to	 certain	 sulfites,	 including	 those	 that	 are	 commonly	
added	to	wine	as	preservatives.		 However,	since	there	are	several	wine	makers	who	add	sulfites	
to	none	of	the	wines	they	produce,	people	who	would	like	to	drink	wine	but	are	allergic	to	sulfites	
can	drink	wines	produced	by	these	wine	makers	without	risking	an	allergic	reaction	to	sulfites.		 	
Which	of	the	following	is	an	assumption	on	which	the	argument	depends?	
选项：	 	
A.These	wine	makers	 have	 been	 able	 to	 duplicate	 the	 preservative	 effect	 produced	 by	 adding	
sulfites	by	means	that	do	not	involve	adding	any	potentially	allergenic	substances	to	their	wine.	 	
B.Not	all	forms	of	sulfite	are	equally	likely	to	produce	the	allergic	reactions.	 	
C.Wine	is	the	only	beverage	to	which	sulfites	are	commonly	added.	 	
D.Apart	 from	 sulfites,	 there	 are	 no	 substances	 commonly	 present	 in	wine	 that	 give	 rise	 to	 an	
allergic	reaction.	 	
E.Sulfites	are	not	naturally	present	in	the	wines	produced	by	these	wine	makers	in	amounts	large	
enough	to	produce	an	allergic	reaction	in	someone	who	drinks	these	wines.	 	
	
	
	
	
	
	
	
	



题号：36(qid:699)	 	
题目：	
Turning	away	from	literary	realism	to	write	romantic	stories	about	the	peasant	life	and	landscape	
of	northern	Sweden,	 in	1909	Selma	Lagerlof	was	the	novelist	who	became	the	first	woman	and	
was	also	the	first	Swedish	writer	to	win	the	Nobel	Prize	for	Literature.	
选项：	 	
A.Turning	away	from	literary	realism	to	write	romantic	stories	about	the	peasant	life	and	landscape	
of	northern	Sweden,	 in	1909	Selma	Lagerlof	was	the	novelist	who	became	the	first	woman	and	
was	also	the	first	Swedish	writer	to	win	 	
B.She	 turned	away	 from	 literary	 realism	and	wrote	 romantic	 stories	about	 the	peasant	 life	and	
landscape	of	northern	Sweden,	and	novelist	Selma	Lagerlof	 in	1909	became	the	first	woman	as	
well	as	the	first	Swedish	writer	that	won	 	
C.Selma	Lagerlof	was	a	novelist	who	turned	away	from	literary	realism	to	write	romantic	stories	
about	the	peasant	life	and	landscape	of	northern	Sweden,	and	in	1909	she	became	the	first	woman	
in	addition	to	the	first	Swedish	writer	winning	 	
D.A	novelist	who	turned	away	from	literary	realism	to	write	romantic	stories	about	the	peasant	life	
and	landscape	of	northern	Sweden,	Selma	Lagerlof	became	in	1909	the	first	woman	and	also	the	
first	Swedish	writer	to	win	 	
E.As	a	novelist,	Selma	Lagerlof	turned	away	from	literary	realism	and	wrote	romantic	stories	about	
the	peasant	life	and	landscape	of	northern	Sweden,	in	1909	becoming	the	first	woman	and	also	
the	first	Swedish	writer	that	won	 	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



答案： 

1	 2	 3	 4	 5	 6	
A	 A	 E	 D	 B	 C	
7	 8	 9	 10	 11	 12	
B	 A	 C	 D	 C	 C	
13	 14	 15	 16	 17	 18	
C	 D	 E	 E	 B	 B	
19	 20	 21	 22	 23	 24	
E	 A	 A	 C	 D	 E	
25	 26	 27	 28	 29	 30	
E	 A	 E	 A	 C	 E	
31	 32	 33	 34	 35	 36	
B	 A	 C	 A	 E	 D	

	


